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1a)| % =mr(mbzZ) ;; %= (m+2)r(mOZ) och Eoy =Eo, =B,
b) i 6= 36,9°,ii 6= 26,6°

2a) i upplosas (sarskiljasy, forsta, iii minimum

b) 45,6 m c) =410 Nej
3a) 6dB b) 1-10° W/n? ) 50 mwW d)3,1m
. 21T |, .
4a) iv b) I, =211+ co{Td smﬁj

¢) Max (= 4) daé@ ar 0, 9¢, 180, 270, 360
d) ; Min (I = 0) d3@ &r 30, 150, 210, 330

5a) X+ﬂsin(ﬁ(x)) =0 Db) X+%x: 0 c) 13,6 rad/s, 2,16 Hz och 0,46 s
m m
L L 1
6a) f = =—, M=-—=(01-¢)
(¢+1¢ ¢° ¢
b) a=0,6180... mb =0,3819... mf = 0,2360... MM =-0,6180..., ¢) Gor konstruktionen...
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